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1. If.r "+ax"1 
:....4+sz-ff o, xplain

the pinciple upon which we proceel to find,

i possible, a rational hinomial divisor.

Find three such divisurs in the equation,

- 4x* -6x* +-Sr + 17r' 22X+24 , 0.
i. Bookwork (Newton's Theory of Di-

Applying the test in this case, we hnd the

<ivisors tb x -2, x - 3, x - 4.

2. Express m' - 4m'n + 5m'n' - 2mn' +

n' as a rational integral function of p and n,
where p =m - n.

2. Substituting and expanding, we have

for result p -pl n' + n'.

3. Ify ic a rational integral function of x,
and y becomes zeio when a is substituted for
r, prove that x - a is a factor ofy.

Resolve into factors:
x' - {a(c-b)+ (b-c~)+cc-a)4x+

ab(a - b) + bc(b -c)+ca(c - a)

3. Bookwork.

(x - b -<)j(x - c-a)(x - a -- b)

ac ma+nb Mc + nd
4. If -- -- prove that - -

b d ma -•sb Mc - nd

(m +n - ni
If x'+. + -xy+y,(m -n r+nP v+

m + n -n- n) V-1
XI+ -xy-y'

S- n m+nj
tind the simplest expression for the value

,. llookw, ' lty adting and .ubtsci-

ing i from each aide c f thr riatoiin and

then divi<hng equals by rqua's. we get
m4-

m 01 nY

5. What is a ratio ? T)oes the ratio of
two quantities depend tpon their magnitude?

Given 0 i s' , - a' a - o, to find the ratio

of x to y when a becomes nletinitely great.
5. Itookwork.

6. What is meant b-y a maximum or a
minimum solution?

Tt is required to divide a numher a into

two part% such that the quotient arising from
dividng their product by the sum of their

squares may bc a ma.rimom. I)etermine the

quotient, and the division of the number
required to produce it.

6. Suppose a to be the number, and let one
(a -. r)x

part he x, then solving In
(a - t)+X

the usual way. for maximum or minimum,

p J, or -J; takep7= , and wehavexv=a
for maximum.

7. In an arithmetic setieS, find an expres-
sion giving the iast term in terms of the first

term the common difference and the sum of
the series.

The nth terms of two AI's are respec-

tively i(n+2) and 1(3 - 1). The same

number of terms being taken in each set tes.
what is the nunber when the sum of the
second series is four times that of the irst ?

What is the greatest ratio of the sum uf
any number of terms of the second series to
the sum of the sanie number of terms of the
first?

7. Find the value of
n

n from s 2a+(n - 1)d 1,2 fý

and we have
2s - a 2s - a

nt id 2a - d (2a - dP1 +8dof r.


